MATH Review Toric 12

Do all your work in a piece of paper or a white board and write here the final

answer.

I. Solve the following operations.

1,687 1247 - 3 = r 732
- 398 134
+495

Il. Find each sum or difference. Simplify if possible.

4 2 1 = 2,1~
1A+ 2ed= 2. 241=—

S_2 - kI [
3 8 8 4 10 10

lll. Write the fractions in simplest form. (Simplify)

4
12

3
9

IV. Write each mixed number as an improper fraction.

2.6

—
w
N
Il

Bl

V. Write each improper fraction as a mixed number.

12
II' _g'_ 2- "3'-'
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VI. Find each sum or difference. Simplify if possible.

L. 2%+1§= —_— 2 3%+4%: I
3 5142- — 4 12%—?% —
BBgas — 6 ASEL —
7. 73-42 — 8 62+3%

uaLIVEWORKSHEETS



